B

®iz

fM64E 78 228 (A)RGHERK. ARES. 2XEHET
BF1MHR. ZF1- 2R
238 (K) BF2-3%H . xF3-4WHH

AT, BASESE

TWEBHAE FAEHEATU-T

x 174 =3
*x W R B8 F £ B £
ARBAFEARBBRAR-VinE

i

ZPRPFEFREFTER
wOR & BB =

P

& L BT #
& :



e

E=m
Pl
A m

=T
W

Z ¥ a8
<B¥>

<zF>

B X
fRal ES
o omF WA BhF
A HEF EF HE
I = HBINVAF
xN Bz BE U
Bl ME R R
£k 1
£k RX
iR f2ik ¥ EN
Ny Em O RR AT
X% BE BN M=
mR HE EUGabs
iR 2 (BF)
AE #F
mE EBE— Bl FIE
IR % ER T
B #— * Bz
RZE B R B
=fE EM &k &G
WA Bk WA B
R 28 TIFKF
A HEN HEEF HBAX
' RRF¥ ERN BT
g RF RIS FF
Sl ¥ KE R
¥ = R =i

BE EBE—
BNFFEER
T BT
RIZ/NRK

/N BSER

R H#F
" RRF
REXEN

S FF(ZF)

BB HH
wE =F
1£% mit
AH #F
TIFKF

(B R AR #REE)

e FH

BE £

IS EF

RE E—
RA ZREA

FRIAREEIT
&
IE #K
ENl Bz
IS ET
HE 1E

R #7F
o mF
ILIE #

N BR

FUR K

aE AR

K#Hx BE

Wi Bh=
HFiR Wy

BIIFEE AR
NS
BHEEHR
/NE - RER
= B

Mg BX

aINUVSF
RA#Hx BE
FIHE MK



<K >

©7H2280 (H)
2 3H (k)

AN == I
Ki}ﬁ

Bf2 -

'ﬂE‘\

FRFsXNiIMMsBE L +5

ASHRE . FREE .

SHEEBEH, . L7 3 - AFEEE. B AT,

FF 1B

7S 1.

PH 2 18

2 P

s

" A

ey T

8:30~11 :

30

2 HIX10:30 L TT v S BAA

ey T

8:30~11 :

30

3 HEIX10:30H L TT v S BAA

R EAE
2¥11:30~12:10 311 :00~11:40
312:10~13:00 411 :40~12:20

B % | %

22 H 1 9t 22H | 1 Bk
AXHE13:00~14:00 A E12:20~13:0
Wi F14:00~15:00 Wi F13:00~14:1

2 B

AABE 14 :10~14:5

Wi F14:50~16:0
BT x T

ZAE 8 1 30 (8:00BfH) ZAE 8 1 30 (8:00BfH)

L % L %

2 BF 3 BF
AXHE10:00~10:40 AXHE10:00~10: 4
Wi F10:40~11:40 Wi F10:40~12:2
3 BF 4 3F
AAMELL:40~12:30 DoAXMELI2:20~13:0
23H | # 12 :30~13:45 |23 # H13:00~14:4

, PARONY) 14:40~16:0

g I @%ﬁk%ﬁﬁ%&%% I g%{—s\ﬁlﬂ:: . @J@%%% 16 :1

B T BRI T E S Po 8o

g s REE LT EM

(B &ZMpT)

A




-+ 33f)

TH23H 2

1 BE,

(7H22HA

BB T F R

X NS 0 <+ M N
2oy B < o« o~ < MmN MmN~ 0
= Bl oo o~ MmN o~ MmN~
B N~ m N~ M N~ 0 T m
ey S = < o X — <t M A — o < M AN
o o o o o le]
(=} (=} <t < m <
N < e o - ~ o
! ! ! ! ! !
(=} o o o o o
.%H‘J o o o < < ™
- SO - G- i
i~ = i~ = i~ el
B T D o |x ZE 2 B &
<mon| TE@- wE 0
2 5
_ << << | LE<< g 2 <
S .
EEEE & EE By & H
z +mmm A0
BN = £ K &
= m._mm o X 8 &
o — N M <t — N M <t — N MW
H — N ap)




K

A

4o

-+ 4 3F)

3

1

Bk

- 2P, 23 H

1

(7H22H

F— bk

X 4

#H

BE

A BB B & F B EIR

: 00
10
: 50
: 00
040
: 20
: 00
040

12:20~13
G52
13:00~14:
14:10~114
14:50~16
10:00~10
G52
10:40~12
12:20~13
G52
13:00~114

K P o
B —
B R
(N

Kk s 57
PN

P

It

B
L

— N M <t

4




<m%¥> ReLil rﬁ) fﬁfﬁwﬁ%ﬁfﬁ.}ﬁ%ﬁ%‘%’% EEJE?%&@‘%B éﬁ%ﬁﬁﬁjﬂ OA N _
%\ Sy, Y a4 o Vi (953 i =)
M| [ B F B A mm | me T Ee e i |
11 125 it EiE KEEEHR| 2
2| 531 Bl ®BR 2% | 2
& 3] 126 BE 3 KEme| 3
INIAEE NI & |KxPmd| 2
A
17 532 R B Zigd [ 2
2| 70 LB FER MTGC| 2
& 31 700 @8 %® |MTGC| 2
N4 30 | 5tm mz  |z=noo] |
B
13
1T 190 WE BE  |sEmt 3
2| s00 BB @&  |F2—H| 3
f&l[ 3] 04 T RME  |seER| 2
A 4 3N NE FZE =257 ]
C
11 204 #Z 7.8 BsA—h| 2
2| 205 E HAE BsE—rh| 2
&3] 206 EIl = BE—| 2
N 4T 207 A AA  |BE—| 2
D5 405 = & SerRa| 2




<Ef> TH6FE REGEUEAZR HIROM (KFHRTOTS A

= 7
F1Z] Tevrs s en|Z DD | BAS | kS ShiE
g o B F R |FREE A =R o B 5
K[| 120 UE & KFme| 3
Al 2] 121 ®E BA  [KFEmH| 3
ZF[3] 122 BT A |kEme| 3
E 41 123 M SE KEpae| 3
=
*7)(%
s 1T 400 AE BMA  [#EmE| 2
M 2| 40 R #HE $2mRah| 2
25 3| 402 He ERE $4Erh| 2
e 41| 403 BN S| 2
=2
2 =
11 180 BA BN RERR | 2
2| 527 {—HME e £ | 1
& 3] 555 B |amEmsd| 2
)E\4 6 BA B MEs |1
11 586 AEAR B2 RH | 1
2| 528 Iy EE Z%h | 2
&3] s FE BSE | MRS | 2
)F\4 124 | @ BHt  [KkEmd| 3




<m%¥> ReLil ﬁ) fﬁfﬁwﬁ%&%{&é%ﬁ%‘%’% EEF%&G)‘%B g;%%ﬁﬁﬁ?’lj OA N
%\ PR Y s ] -+ Iy y no i [
el A I T T el 1= =l el el st
1 1 $EE e HES | 3
2] PR S | MRS | 2
[R[3] 3 =M gt MEs | 2
Fl4] 4 £ K | MRS | 2
)
X
Z1 1] 520 EPg £t ZErEd| 2
22 sz BF E£A |mErEd| 2
F3] s g AE |mesme| 2
4| 523 £ BA  |ER¥ES| 1
th
=l
R
BE[ 1T 200 mEEA B%  |BE—H 3
H 2| BIE SN |BE—| 2
3] 202 P M- |RSE—rh| 1
SME(—{ 4| 203 B BA[BE—F| 2
EE
%
X
1T 160 EEE g | 3
2] 161 ML AR | i | 2
3] 162 M BE i | 1
14
%
&
11 670 BE B BRE=r| 2
2| s85 B @t RS | 3
&[ 3] s70 #F mE |@EvEa) 1
)G\4 291 i AEm |REoA| 2




<m§¥> TH6FEE H&%E%ﬁé%%ﬁjf% ;Pgﬁﬂ%‘il}] J_jﬂ%ﬁﬁ%%"\l] 7"5A I
o e, N wate & [F g SOEL AT sl (=) t*
- I T O = = = 1 O R
11 205 RE Bl BsE—| 2
2| 530 R RER z2xE| 2
B3] s BR BE | BED | 2
AN 4] 53 B Bw |ZerE|
11 206 HFE #F  |BE—H| 2
2| 207 KE IR BsE—| 3
& 3T 208 BN 0B |BE—| 2
NN EH M | MRS | 3
B
138
11 209 iR &% BsE—r| 3
2| 210 BE BE BsE—h| 2
&3] 2n ERE WE  |BE—| 2
N4l a2 I BN |BsE—h| 2
C
11 213 mEF ON/E |BE—H| 2
2| 5 Kk R wEe | 3
&3] 214 dA 2 |BE—| 2
)DK 41 29 W BA =5 | 3




<m§¥> TH6FEE HL%EIE\;%E%WEZ(% ;Pgﬁdq)%[i] J_jﬂ%?‘éﬁﬁ%%"\l] 7"5A I
o e, N wate & [F g SOEL AT sl (=) t*
- I T O = = = O R
11 575 SR tiE =R | 1
2| 701 e EE MTGC| 1
&[ 37 526 e BE  |zexE 2
NI R E
E
11 3n =5 B85 =285 2
21 312 g HE z=gmo57| 2
&3] 528 XA ER |2e¥E| 3
N 4| 680 B2 0xY |xme—w 3
F
23
11 6 i BT MR | 3
2| 314 BA HEE |zmeos| 1
{&[ 3] 404 WE s |semE| 1
N4 320 2) fmx  |mE=h| 1
G
11 204 Pan=- 13 BsE—| 2
2| 690 =iE BE gaH | 1
@3] 505 | = exr |22
AN 4] 52 i BT |2eeE| 2
H{5] 300 22 E (BETE 3




<ZF> THO6FE HL%E%&E%WE%(%‘ ;PE&%@J Ljﬂs?%ﬁﬁ%%"\l:l 7“5A _
A i, A il e R V\HT A= a i
I T S = = = O R
11 200 A FaxE |BE-—p| 3
Hf2]| 201 e mH [BE—rh| 3
(3] BiE B [mE—a]2
— 4] 203 2 il I
.EE
%
R
KITT 120 BEE £z |KEmdH| 3
Al2] 121 R EE | KEmd| 3
3] 122 INE W [kEme| 2
af 4] 123 Z2 M7 |[xEmd| 2
EE
%
E‘
48 11 400 &L =8t |#EREE| 2
H 2| 4m KR # M| 2
F'Fﬁ3 402 SE BF $MEH| 2
3I”I|:|:| 4 403 AR MR |#mEh| 2
e
=
35
7K ] 590 WE 4 iszos7|
21 so1 R IRy |sumross| 2
{2'5 3 592 ED EHR ko 57| 2
1[4
v
=
5
11 722 a1 XH orsaeean| 3
2| 123 atE R orsEras| |
18 3] 525 L e |zerE|
A4 313 T E [zemmosy]
[




<¥F> D6 FE EEE;%% A ;}:gmaﬁ% s: %%\D QEA 1
= Sy S N Feva Iy XEL\‘ I?i— 1S = =]
I T = = = - A
11 520 B RAE | DErEd
AV XM HE  |zasEe
F3] 52 L B |maeEs
4| 523 AR EE |zeemEe
i
%
R
KT 10 52 B |xF=H#| 3
P2 m BA BR | KE=d 3
3] 2 MR BF | KE=m| 3
—{4] 14 R AF KEZm| 1
i
%
E‘
F[T[ 50 [ = iz [$2—3
(21 501 Bl WE |2 2
23] s02 BE BE |(F2—| 1
4% |—( 4| 504 VN F1%E 4R —r| 3
i
%
*7)'5
1 1 &R BH MR | 2
S EE ER @ RS | 2
IR[3] 3 ®F AR mEs | 2
== " &M ICCY | MESE |
=l
R
11 600 B "E mEnErE| 2
2| 240 K @& Al | 1
@31 113 BiE £z [KkE=H| 2
A 41 310 2 WEXE  |zemosd| 2




